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FEAE HEEUEAN XKEEE (B FH)
B E & B AEERE | AIEERE BB
EEEHILA 91,744 91,509 234
FARISZHIFI FRUX A 1,046 1,440 -393
REREHEDERA 57,064 58,527 -1,463
5 IR | 2Rt U A 170 1,170 -1,000
e A [HEURA 2,194 2,614 -420
= EAETEEZHMEIRA 1,010 1,010 0
%ﬂ EEMBE S AFEL SN EREE 2,723 2,723 0
9 EEFEUNAGA) 155,953 158,995 -3,042
% ANGEEXZH 93,941 92,289 1,651
o EHREXH 15,933 18,214 -2,281
a7 X|EEEXH 10,143 12,210 -2,067
T B E A E 8,227 8,204 22
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SEEHINZEEQ)=(1)-(2) 27,625 27,993 -367
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5 A |BEFENSMIRAEIA) 27 25 1
PIX|EAEFEXH 0 669 —669
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x| BEFZESINETZ2E(6)=(4)-(5) 27 -644 671
1R INZ = BE(7)=(3)+(6) 27,652 27,348 303
MR NETE 0 0 0
2|5 [ ausiato) 0 0 0
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2 FDMDFEIILENAREE(16) 0 0 0
o | ZDMDIEILEFEILFEUT) 20,000 55,000 -35,000
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* X BEICTFAXRBUVETTHYET DOTEIEFE—BLEWEAHBYFET,




